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00 	MC0-03 : RESEARCH METHODOLOGY AND 
STATISTICAL ANALYSIS 

CD Time : 3 hours 	 Maximum Marks : 100 
Note : Answer anyf.  tve questions. All questions carry equal 

marks. 

1. What do you mean by research report ? What are 5,15 
the various aspects that have to be checked at the 
time of finalization of report ? 

2. What do you mean by statistical fallacies ? 5,15 
Explain the various types of statistical fallacies 
with suitable examples. 

3. (a) What precautions would you take while 
using the data from secondary sources ? 10,10 

(b) Design a questionnaire to ascertain the 
views of the IGNOU. M.com  students about 
their experience in distance learning system 
and their suggestions for its improvement. 
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4. 	(a) The particulars regarding income of two 
villages are given below : 	 5, 5, 5, 5 

Village A Village B 
No. of families 600 300 
Average Income 
(per day in Rs.) 

175 186 

Variance in Income 
(per day in Rs.) 

100 81 

From the above data find out the 
following : 

(i) In which village the variation in 
income is greater ? 

(ii) What is the total income of both the 
villages put together ? 

(iii) What is the combined average income 
and standard deviation of the two 
villages ? 

(b) What are the essentials of a good sample ? 

5. 	(a) Why do we study probability ? Explain its 15, 5 
importance and relevance in business 
research. 

(b) Distinguish between Estimation and testing 
of hypothesis. 
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6. 	From the data given below, find out the following : 
(a) Two regression equations. 	 10, 5, 5 

(b) Estimated value of x, when y is 34 
(c) Estimated value of y, when x is 47 

X:  48 50 53 49 51 55 53 49 
Y:  36 32 33 38 37 31 35 30 

7. (a) (i) 

	

	One ticket is drawn at random from 
a bag containing 30 tickets, numbered 
from 1 to 30. Find the probability that 
it is a multiple of 5 or 7. 	5, 5, 10 

(ii) 2% of the electric toys produced in a 
manufacturing process turnout to be 
defective. Find the probability that a 
shipment of 200 toys will contain 5 
defectives ? [e = 2.7183 constant] 

(b) How do you select an appropriate scaling 
technique for a research study ? Explain. 

8. Write a short notes on any four of the following : 
(a) Editing of data 
(b) Sources of secondary data 
(c) Research design 
(d) Selection of a research problem 
(e) Generalisations of findings. 
(f) Interpretation of analysed data., 

5, 5, 5, 5 
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74.*.311.--03 

tioti 	*11141 Tit dill ET 

t1 	1c1 TIATJT 

Wit, 2011 
.  

TiA.311.-03 : arTlEga.  fetriit 	kit r.544) 

‘Lfiidi :3 eu 	 31fE/Wff7 3 	: 100 

: 	f 	4 ,Iru 	 T7-W/ T7.4.  WI' 	`I 

1. 	3171t119 .  3f-dt-<ff (ftcM) 	31  fTTiTr'4T 	? ct) 5,15 

"AfT4T9. 	3Tr717 Tcr 	Trrn-  A1=4 	rar949.  

-cr-6gr 	? 

2. Vrgr*--fft{4 31rq 	t? fa-rwAi Mchlt 5,15 

	 VIT*7T r of 	 act 	v i Trig quii 

Vf-A7 I 

3. 	(a) 	go 	qch 174-4 	941 , I eht 	3117 TT 

*iiciteit ATP ? 	 10,10 

(b) Qt #RiT'SFITT-01* cal4 

	 3ITT4 	.$71-*").  INTO.  *10 	 3-1 

7171 	At-14 	ffiirtrn 51kile1(11 .4774 I 
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4. 	(a) t 41704 t 337{ 	'ft-47T 	 fart 	1 X11 tl 5, 5, 5, 5 

714 A Ttta B 

600 300 1:1r741t "1-  4Y4i 
3t1Trff 31-Fi (grat9. 7.  -#) 175 186 

100 81 377 # Y wui (Variance) 

( 17fdti T. 14) 

---trT 	 1 4--I 	tIcl 	: 

(i) f-*-7 na -14 3Trzr 	3ifiTw t? 

(ii) `4mich 	eNt t? 

(iii) 	 4404 	r 3 	a-Trzr -ffqt W-114 

Ti t? 

(b) La-) 3TQi 71,0 (7r-d7A) t 31T-471T civi 	t? 

5. (a) 771.  Tti-Tr491 	3-TWEiff ogloMIRIch 15, 5 

31-094T9. 	•Frk 1:17 auk 
.-1-rr- 7 I 

(b) "ff2TT 3-TiTF9. 	tit 317T TcfEW771 

6. 

(a) 

(b) 

(c) 

q 	3t*- 4 	-141 	(51 10,5,5 
: 

t 	4 4 1 4-1 -1 	ohkul 

x 1 391Tififf 1117 7-414 - y34t1 

y .WF 3-TIRTF7U 1:11.9. 	x 47 tl 

X:  48 50 53 49 51 55 53 49 
Y:  36 32 33 38 37 31 35 30 
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7. (a) 	(i) 	c,t) 	fq-414 1 74 	30 	 

30 feTZ t d , 	trn fa-WE zrr-if----T 

W:f 14 	-717T t I if 5 AT 7* -TITT 14 

,4 #13-r-49-r pfd 	I 	5, 5, 10 

(ii) 7W -fir:ft -5rw-m -4 

-4 2% ft014 0(14 t 1200 trAk 

(-Km 145 'WA* otici 6) 	74ITMT 

[e = 2.7183 -Mich (constant)] 

(b) 	.) 74q awJrzF 	fo--4 -crw 79--*T 

-N-RT T -cv4-1 3-TN t-4 04 ? auk -11774 I 

8. tga 14 -4f""-O'WTF -c1{ mf r rduiruNT titer : 

(a) 3It-*3'i (711:1V) 	 5, 5, 5, 5 

(b)of 3 

(c)(c) 3TONTi 	 

(d) 3-TJTN7 TITIFTT 

(e) cbtul (Generalisations of 

findings). 

(f) fcR(*Z40 31t*t 
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